
Tuesday, 8 of May of 2018 7:58 PMC:\Users\Admin\Documents\taxpaying.cpp

#include <iostream>
using namespace std;
int main(int argc, char** argv)
{
    double cc,CIF,ET,ER,VAT,ST,WT,CT,T;
    //ACCEPTING THE USER INPUTS
    cout<<"ENTER THE VEHICLE C.C:";
    cin>>cc;
    cout<<"ENTER THE CIF:";
    cin>>CIF;
    CT=CIF*35/100;// CALCULATING THE CUSTOM TAX

    if (cc>=1800)
        ER=30;
    else if(cc<1800 && cc >=1600)
    {
        ER=60;
    }
    else
    {
        ER=100;
    }
    ET=(CIF+CT)*ER/100;// CALCULATING THE  EXCISE TAX
    VAT=(CIF+CT+ET)*15/100;// CALCULATING VAT
    ST=(CIF+CT+ET+VAT)*10/100; //COMPUTING THE  SUR TAX
    WT=CIF*3/100; //COMPUTING THE WITHHOLDING TAX
    T=CT+ET+VAT+ST+WT; //FINDING THE TOTAL TAX
    cout<<"THE TOTAL TAX TO BE PAID IS:" <<T;//DISPLAYING THE OUTPUT
    return 0;
}
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